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1. HERA el sffefims aull SR Gerg e 9o 89 ?

(a) fder arfemel (b) sEIfTE Ui

(c) M Tea (d) fem Huiwt

i S

(1) i (a), (b), (d) (2) T (®), (o), (d)
(3) ®(a), (B), () (4) W (a), (), (d)
Which sportsmans participated in Rio Olympic from Maharashtra ?
(a) Devinder Walmiki (b) Ayonika Paul

{¢) Kavita Raut ({) Deepa Karmakar
Answer options :

(1) Only (@), (b), (d) 2} Only (). (). (d)
(3)  Only (a), (b). () (9) Only {a), (c), (d)

2. TS T TEER, 2016" FIUS U T ?
(@) el fdy (b) Wl wies (€) TAT TR (@) fagwa
Il =

(1) = (a), (b) (2) ™F (a), (b), (d)

@) (@), (b, () @ R (), o), (d)

Who received ‘Khel Ratna Award, 2016" ?

(a) PV.Sindhu  (b) Sakshi Malik  {c) Lalita Babar  (d) Jitu Rai
Answer options :

(1) Only (a), (b) - (2} Only (a), (b), (d)

(3) Only (a}, (b), {c) {(49) Only (a), {c). (d)

. 3, ‘fodiIn' (LEMOA) % %14 ?

(1) o s BEieH HE e

(2) OF R AuiieH sitw sifade

(3) ofafesy wadl AHiiegs s ffide

(4) i e ddiey AF yHe

What is meant by LEMOA ?

(1) Long Exchange Memorandum of Agreement
{2} Long Export Memorandum of Agreement

(3) Logistics Export Memorandum of Agreement
(4) Logistics Exchange Memorandum of Agreement
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4, THEE §C IEFE T HOIERE] RV GARGe AEH TR [ERR SO 3 7

(1) o S G @) frir ieme

(3) W YuEA (4) @A g YaEa

Under the ‘Literacy India Missior’, which panchayat got the National Prize for best working
in literacy in this year ?

(1) Laguniya Suryakanth Panchayat (2) Gired Panchayat
(3) Rawer Panchayat (4) Amgaon Khurd Panchayat

5. Sl TS qOEON 97 FI0E T TR G A 2
(1) TS ¥ fomm (TR Q) T TEEE A R
(3) maﬁa Pfaw faTm R (4) =S AE
Which National Award was received by Dr. H.V. Tulsiram ?

(1} National Bio-Science Award (2) National Chemical Science Award
(3) National Physical Science Award (4) None of the above

6. WA I W GG The' FTEAY Widovs! o1 fauTT SHeT T2
| (1) HIE FR T 36 B o< Famr [fevar daun Seasae T 59,000 Feien oTR,
(2) T v (o § Afesli Ut 39 SR .
(3) UFT W wRlg o=t 389 8 4700 foiX o,
(4) G ST YA I 36 WA HUATE AT

Which one of the following statements about ‘Rafale” deal between India and France is
not correct ?

(1) Itis a pact of about T 59,000 crore to deliver 36 jet fighters.
{2) Rafale fighter fitted with meteor missile.

(3) Rafale fighter has a fuel capacity of 4700 litres.

(4) The deal will be completed within next 36 months.

HEAT TS ST /SPACE FOR ROUGH WORK
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el @il - 20 ey guied di= Sl e SRS HIAH 3T 8 7

(1) #197 2) (3) TES (4) T
This year, in which city of China, the G-20 Summit was organised ?
(1) Shenzen (2) Hangzhou (3) Guangzhou (4) Tianzin

‘TRRIE Mot G Weodw] hivg faur /A aiEy AR/ q ?

(a) TEWISIA 1075 NS S0 AR

(b) TRRER 11 Do TS 3TRA.

() RN NOHE 59 § <YIGIo gHdl wHlSN GO 3718,

It 39T

L @ (2 () 3 (@ (4) wowd
Which of the following statements about ‘Maharashtra Police” is/are correct ?

(a) In Maharashtra, there are 1075 Police Stations.

{t) In Maharashtra, there are 11 Police Commissionerate.

{c) Maharashtra Police Force is the second largest force in the country.
Answer options :

M (@ @) (b B3} (© (4) Allabove
DU HIE T I oo ?

(1) Frafe s - FE Tm s &

(2) TREHAOEH-UET a9" g - ¥Ed eEe

(3) Srmy-UE g A - e @y AR

(4) FAEY-UEE EETEER A - AR 3.0, ST

Which one of the following pairs is correctly matched ?
Syed Naseem Ahmed Zaidi
Ajit Doval

(1) Election Commissioner

(2) Director General - National
Investigation Agency

(3) Chairperson - National

Green Tribunal

Justice Swatantra Kumar

(4) Chairperson - National Justice T.S, Thakur

Human Rights Commission
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10, FEOERHS TS T gefaears I SvamiEt W IER Jhdrd RIS
YAE FTEE AR .
nH (2) Tl =0 A
(3) wwEl F W (4) W w= vt
In order to achieve the objective of improving the girl child ratio in Maharashtra, the state
government relaunched the scheme recently.
(1) Sukanya (2) Majhi Kanya Dhanashri
(3) Majhi Kanya Bhagyachi {4) Majhi Kanya Bhagyashri

11. A, B,C,D,E 3N F & 7@ Jr=0a=l 3T N TS S 3T, C & At AT 9y
e o7 € S foiarE) amfid . F@ st e Tees ontt o etfaafia R, A 91
WS 2D A G0 AR B U T €3 T wg FHTd o @rardEd 9T e 34,
B ST F § T WM @AW, 9 a7 fqanfed et oed. & F< B YR TR FR?

(1) == (2) 9IS
@) (4) T wifet et gt

A, B, C, D, Eand F are members of a group who enjoy book reading. C is the sarpanch of
the village and post is reserved for woman. F is pakhwas player and is a bachelor. The
brother of A is D's husband. B’s wife is not the member of the group but sometimes
accompanies him during reading sessions. B and F are residing in neighbouring areas.
There are two married couples. How F is related to B ?

(1) Husband (2) Father

(3) Wife {4} No sufficient information is provided

v HWIES FW /SPACE FOR ROUGH WORK
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12. =X TewRE I Bievamds @ e fRER 7@ F1an Wg TR isvide g e o
a9 ol R & T et faeE.
22120 31( 36 8 (11 11| 6
27 10 28 35 9 10 7 / 12
25 . B 25 32 4 5 8 13
15113 24129 216 14{ 9
(a) (b) (©) ()
1) (a) @ ®) (3) (0 @ )
Numbers in three out of the four expressions follow same rule, while one does not. Select
the odd expression.
22|20 31136 8 111 11! 6
27 10 28 35 9 \ 10 12
25 8 25 32 4 5 13
1513 24|29 216 14| 9
(a) (b) (c) (d)
1) (@) 2) () 3 {9 {d)
13. N,O, P, Q9 R¥ T WURT TWR ARA. N & T O T G 1 61, X o1,

O & P W= viyesen 1/2 6. simmer s o1for Q 51 var R T uivana 1t

IS 3T, T Wigd= 3THN @R W™ 3™u faur faer

1)
(2)
(3)
)

P 1R =1 Ii¥=Hen a1,

N & P ¥ T 1/2 T .
N o R & REUIRE 3/2 1.1 gX atra.
R &1 O =] Jaon 318,

N, O, P, Q and R are streets parallel to each other. Street N is 1 km to the east of street O,
street O is 1/2 km to the west of street P and street Q is T km to the west of street R. Select
definitely true statement on the basis of this information.

(1) P is towards west of R. (2)
(3) N and R are 3/2 km apart. (4)

N and F are 1/2 km apart.
R is to the east of O.
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14. B TRSHF hiTERA g IaR st i Wt waed. sifen sgharen frg vk s ety
e

WY T

ST ATRAAT

o b 0 b e B

Transparent paper B is folded along with dotted line in the direction of arrows. Select the
option that would look like final fold.

Question Figure :

Answers Figures :

(1) Z\ﬁ @) A 3) ,}/-1— @) Cﬁ
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TS T : : Fergrem U e S Sead S S oTE, e |9y - ; farerea gas wieds
W AR, W TEy MyF seedF famgren s A wata faen

(1) 152 (2) 142 (3) 122 @) 132

In the following question there is certain relationship between the two given numbers on
one side of :: and having the same relationship between the two numbers as the numbers
on the other side. Choose the carrect alternative, which will suitably replace the question

(1) 152 2) 142 3) 122 @) 132

A

15.
240 :380:: 7 240
mark.
240:380::_2_: 240

16.

A,B,C, D, E, F, G a1t H 378 313 fi5 aforer 9000 HRd.  Taldl 1ig ade Awmss a7
A, B = SET*S T T 8 F =0 39e1 aer §E9 W 990l 3E. DA @ B
TIN@ wH9d TE. C A G AgH! WEAEIEe wqdrE. H 81 D w1 SiNjel 969 et C g B A SN
=Hd A&,

T WEEHGS! W TR SO0 U, O S I TR 3. YT e, T 9 UF 98 91
qoq1d ARG, WESIH! FIVE FE, 3TV YFR 7O 5o e 37 THom Tl ?

(1} AGEF (2) CBDH (3) HCBD {4) AFDB

Eight friends A, B, C, D, E, F, G and H are sitting around a circle facing towards the
centre. A is sitting third to the left of B, while second to the right of F. D do not sit next to

A or B. Cand G always sit next to each other. H never sits next to D. C do not sit next to
B.

For playing cards they form two groups of four members each, consisting of alternate
persons, Which of the following combinations may not be a group thus formed ?

(1) AGEF (2) CBDH (3) HCBD (4) AFDB
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17,

10 A

ﬁﬁam,ww,wmﬁﬁmamwwﬁ%wﬁ 1G]]
! \IeH g AR HIE AT, T Goh sUIART ST Y= FHINHAS SR e
(1 2
fogr |fGh

[

| e
o | |

3) @)
(1) & AR = (2) T 3 4R R
(3) = aufor 9r S (4) W TH
Four pieces of paper, divided in to six similar squares, coloured in different colours, are

given. They can be folded to compose cubes. Select the pieces of paper, which can be
converted in to cube, having blue and white colours on opposite sides.

! White ' Blue | Yellow |
! Red lGreen Yellow | Orange Orange) Red | Green
|_Bll._le J j’\_{‘hite
1 (2)
Green | Red ‘ Blue [ Orange
Blue | White | Yellow Red | White

Orange Green | Yellow

{I) One ag?c)i three both (2) One and fot(fr)both

(3) Two and four both (4) Only one
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18. Wi I, Ao, SEm 9 B TEEER 9 TR dew S ger e ufed 3 TEn | de
VT QU FA. T Fogl T IHTER WA T, S ward 37 STaed ufed St Tt W

(1) e (2) o= 3 wfed 4 @

When Lajla, Leela Lalita and Leena stand according to age, Laila being younger stands
first while Leela brings up the rear. However, when they stand according to height,
Lalita being the shortest stands first while Leela comes to the third place. In both lines

Leena remains at the second position. Select the person who is immediate younger than
Leela.

(1) Laila (2) Leela 3 Lalita (4) Leena

19. WE 9 ¥R, 30T 9 TR meT A . a9 WS R 9 30t € favm
froes. SHT 9 Hiea nfim 3 i s, d9e 9 A W 9 0l faeg
Faea.

waid w1 Fosew fava o ?

(1) Sus (2) fra (3) TERFYRA (4) ifowere

Mohan and Shekhar are studying English and Physics, Shekhar and Saleem have opted
for Chemistry and English. Zubeda and Mohan are studying Mathematics and Physics.
Deepak and Mohan have chosen Chemistry and English.

Which is the least chosen subject ?

(1) English (2) Mathematics  (3) Chemistry (4) Physics
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20, Toa=M a&@beyd ¢ &P A
A—DB ¥S B € A = SIGQT 8.
A« B =YN B ¥ A =0 TRcdo o,
AeB BURIB §1 A = SN 31T
A-+BRUSIBE A T STWRA 3Tk,
T T-Q; TiS; R>Q; TesN; R-o§; 307 R-Q, R-S, T-Q, T-S, T-N ¥ & §AF 374,
P#ET, QS 30 R 91 9F FHH AMTR WS T W 9717 FHast.
(1) N & P=0 I 3T, (2) PTT= Ted 3.
(3) ST N = e I, (4) P EN =0 T 3.
The symbols have given the meaning as follows :
A—B means B is at the Northwest of A.
A« B means B is at the Southwest of A.
AeB means B is at the Northeast of A.

A~ B means B is at the Southeast of A,

I T-Q; TS Re=Q; TN; R—5; and distances between R-Q, RS, T-Q, T-S, T-N are
same. P is at a equal Jdistance from T, Q, S and R then select the true alternative.

(1) N is at the North of P (2) Pisatthe Eastof T

(3) Sis atthe Southwest of N (4) P is at the Northwest of N

21. WO fauH v
(a) ©IF TS THEAA uRars I § Wi wewd |ved
b) ¥ e e FridaEt vag
et I
(1) faue (@) TR o 2) faum (b) ST IR,
(3) Taum (a) s7for (b) =T 3. (4) Taum (a) afm (b) I TE.
Observe the following statements.
(a) The iron ore mainly is found in Dharwad series and laterite rocks.
(b) Redi Port is famous for the export of coal.
Answer options :

(1) Statement (a) is correct (2) Statement (b) is correct
(3) Statements (a) and (b) are correct {(4) Statements (a) and (b) arc incorrect

22, 2001 = FAATEY Gag TeA ot fhd Zah o FuSTETd WK 2 2

(1) 55% () 49% (3) 50% (4) 34%
According to 2001 census, what was the percentage of slumdwellers in Mumbai ?
(1) 55% (2) 49% (3) 50% (4 34%

HTE BTG AT /SPACE FOR ROUGH WORK
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23. @ fayier faaR &3 :
(a) TfyaH TeRE favmdie 3t STgie A  TeHed sHfaav 59 & 1000 =.fe 3.
Q& S FF T GO 19 F TE] TAAHTT S HH DT
(b) fag+ faxrmere daaae TS SAqHY SOV, YHE o oldHis g1 di-el a4 fawmd
& 1000 <it.f. 5. San I o
qoiEt 39 ¢
(1) (@) SN0 (b) TR () (@) FAR () TF
(3)  (a) TF (b) TH (4)  (a) ¥ (b) T
Consider the following statements :
(a) Among the Western Maharashtra region, the Alibaug region in the Thane forest
circle is the only region having forest area of more than 1000 sq.km followed by
Thane and Dahanu forest regions.
(b) The three forest regions of Buldhana, Pusad and Yeotmal in the Yeotmal forest circle
of the Vidarbha region have a forest area of more than 1000 sq.km each.
Answer options :
(1) (a) and (b) true (2) () true (b) false
(3) (a) false (b) true (4) (a) and (b) false
24, GO WA AfEdteed SR sliera

(a) TieEG & ardt Tl oA,

(b) & ST geh-ges oy fo=t Waemaor few € ufvem-ge 1w,
() THE W AN W IfyeEy e R aTE.

(@) T3S I FH D 9w,

gty I ; . B .
[ o - FHisial (2) wEEE - TomEE
(3) WY - WA (4) feieh - gegs dhm

Identify the mountain range from the information given below :

(a) Water divide for Godavari and Tapi rivers.

(b) This mountain range is discontinuous and has a West-East orientation.
(¢} Has gentle slope towards the East and steeper towards the West.

(d) The hieght decreases towards the East.

Answer options :

(1) Satmala - Ajantha (2) Harischandra - Balaghat

(3) Sambhu - Mahadev (4) Hingoli - Mudhked Hills
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25, W 9 @ WA 9o diTg e Yo 9y 199w

e LR
(@) A (i) —HEHRER - WA
(b) TEEEH =iE () STEHETN - 3@
(c) Wi HiE (if) HaE - A
(d) s HIE (iv) 0 -9
it Iy

@ () @ (@
1 O @ @ )
2 @v) @ @ (@)
(3) ) @v) @ @
4) @ @ @) (@G5

Match the pass and their place and choose correct option.

Pass/Ghat Place
{a) Thal Ghat (i Mahabaleshwar - Mahad
{b) Khambatki Ghat (i) Ahmadnagar - Thane
() Malshej Ghat (iii) Mumbai - Nashik
{d) Ambenali Ghat (iv) Pune - Satara

Answer options :

@ () @@ @
1 @ @ @ @
(2 v @ @ 6
(3 @) ) @) )
@ @ @ @) (@)

26, YIS JOUAIH TGS FIGHATHR WS .
(a) ey (b) <T@ (c) WHER (d) =R
ogiE 39T :
1 ) @) ) (& b © @ @) ®,d @ @ b)) @) d

Arrange the following newspapers chronologically in the order in which they were
established.

(@) Deenbandhu (b) Durpun () Prabhakar (d) Deenmitra
Answer options :

M ®) @ @@ @ G G G d @) @ O)c @ d
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27. TEOUHT U SIS AT AR ?

(a) W wEa - S R

G L - TS v

(c) IO TG i =@t ? - B AR

(d) Fouia Fvam - e HTE

vt S

M (@ (@) (b) 3 @ 4 (©

Which of the following pair is mismatched ?

() Yamuna Paryatan - Baba Padmanji

(b) Dhaddhashastri Paranne - Mukundrao Patil

(c) Pan Lakshat Kon Gheto ? - H. N. Apte

(d) Kalyanche Nishwas - Kaghibai Kanitkar

Answer options ;

(1) {d) (2 O @) @ 4 (9

28, EFA TR YETH! (1936) TG FOR HE 2

(1) wES S @) T e

(3) W TA. (4) o SR, A
Who founded the ‘Independent Labour Party” {1936) ?

(1) Comrade Dange (2) Senapati Bapat

(3) S. M. Joshi - {(4) Dr. BR. Ambedkar

29, itarE T TS i SErEeis gaw 7 TR = FOE S HIoM! 2
(1) 191943 13 5[ 1946 (2) 10 93, 1943 1 26 o 1945
(3) 171944 115 3RE 1M46 (4) whstwt Td

What was the period of the Satara Prati Sarkar that functioned under the leadership of
Krantisinh Nana Pat} ?

(1) 1 ]une 1943 to 13 june, 1946 (2) 10 june, 1943 to 26 July, 1945
(3) 1 June, 1944 to 15 August, 1946 (4) None of the above
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30. AW AT WS WA Giieie! BIvR gaw fOds ?

(a) 3feR™ b) e {c) A (d) B

it I ;

(1) X (a) () TR (3) (@) A (b) @) (o) T (d)

Which of the following books was written by Acharya Balshastri Jambhekar in Marathi ?

(a) Etihas (b) Shunyalabdhi (c) Vyakaran {d) Chandshastra

Answer options : :

(1) Only (a) (2) Only (b) (3) (a)and (b) 4) (c) and (d)
31, YNGR TEEE, S S =G HAeadi dedid FGA TR o .

(1) At fasm (2) IR =R faym

(3) =m faam (4) LA = A

The Indian Constitution is published by _____ _ of Ministry of Law and Justice.

(1) Legislative department (2) Department of Legal Affajrs

(3) Department of Justice {4) National Judicial Commission

32. wOE faum fa=mm o
(a) R AR T 1983 HE WA
(b) TEH AR el 247 R g,

SR /A faum/A atET /A ?
1) @) @) ()
(3)  (a) >0 (b) (4) ot @

Consider the following statements :

{a) Sarkaria Commission was set up in 1983.

() The Sarkaria Commission repot contains 247 recommendations.
Which of the statements given above is/are correct ?

(1) Only (a) (2) Only (b)

(3) (a) and (b) (4) None of the above

AT HIEIE A /SPACE FOR ROUGH WORK
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33, TS WSS HOTl WoareE STUER S 2
(1) T o qieed O wreier Hee A w0,
(2) Tyden uHaS! fates T I
(3) o 9y B9 SHrndt T e TR AEHd 9T A RAEA HYE F10,
(4) TouE TS MR oeraE e o,

Which one of the following is not a discretionary power of the Governor ?

{1} Nornination of one-sixth of the members to the State Legislative Council.

(2) Reservation of a Bill for the consideration of the President.

{3) Appointment of the Chief Minister when no single party has clear cut majority in g
the Assembly.

(4) Recommendation for the imposition of the President’s rule in the state.

34, WES faue faEma .
(a) T den faromsn Afysr il 2000 T 9 et
(b) 1Tfre, 2010 Ty fRraronen Afvem AfufemE] dueasTE) g% v
(c) Trayo o9 Fraer SR FRm TR o Y,
(d) 63 14 TS wE O TEa ot SR e ¥ @ s ger dfres and.
TR FE TG TS 8 ?
(1) (a). (b) ¥ (d) @) (a) ) 3 ()
(3) (B () (@) ' @ (@) ®) © )

Consider the following statements -

(a) The Right to Education Act was passed by the Indian Parliament in 2009.
(b) The Right to Education is implemented from 1% April, 2010.

(c) The Right to Education is not applicable for Jammu and Kashmir state.

(d}) Providing free and compulsory education to all children in the age group of 6 to
14 years is the main feature of this Act.

Which of the statements given above are correct ?
(1) (). (b) and (d) (2) (@), (b} and ()
3)  (b), () and (d) (4) (@), (b) (c) and (d)
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35, AR, OV, TG HHE 91 HeMidie TeaEedio aiqel QEI B HE
AT
(1) 9 fedaT1946 (2) 15 AT 1947
(3) 26 FeEET 1949 (4) 26 SAaTh 1950

The provisions of the constitution relating to the citizenship, elections, provisional
parliament were given effect from

(1) 9" December, 1946 (2) 15" August, 1947

(3) 26% November, 1949 4) 26'h January, 1950

36. Tore faum fae o
(a) Taurratm wHe S 60 Wi SEha ST 500 G9HE TEET.
(b) TS MRS Yt |l 279 3R,
(c) fawm tnan faus avE 93 Wem 32 o
BB I Tagr SE sd 2
1) @b . () G W () (3) (a) 3 () (4) (@), (b) S (c)
Consider the following statements : | | |

{a) There shall be not more than five hundred and not less than sixty members in a
Legislative Assembly.

(b) The Legislative Assembly of Maharashtra has 279 members.
{¢) The Legislative Assembly of Gikkim has 32 members.

Which of the statements given above are correct ?

(1) (a) and (b) (2)  (0)and {c) (3) (a) and (3} 4 (a), (b) and (c)

FHEAT HAERS T /SPACE FOR ROUGH WORK
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37. G faum foa=ay =0 :
(a) FEATRANTH! SAHRIG! Ardiae el SOl dEeE Ji E T,
(b) el §Y Weed Halw AN oS F T T S SIURe 3 feedt anfin
T A T T ST AR, ,
(c) FIEHE WG Tewdd 6= Iaedr 5] T Teednio Haoel Feiae 4 seeas
=1 WIS .
(d) 1976 =1 42 =1 HeAgEd] SfufaugR FEwE - war, aEie sufn svesa 2 9
VIS FHTHR FITATT 373,
TR v faymH/faum aieT sn/q?
(1) W (a) @ (), (b) A ()
(3) W (d) 4} (a). (b), () 30U (d)
Consider the following staterments :
{a) Preamble contains the real objective and philosophy of the Constitution makers.
{b)  In the Berubari Union case the Supreme Court held that Preamble shows the general
purpose of the Constitution and is thus part of Constitution.
{c) In the Keshavananda Bharati case the Supreme Court reaffirmed the decision taken
in Berubari Union Case.
(d) 42" Amendment Act 1976, added three words Socialist, Sovereign and Integrity in
the preamble.
Which of the above statements is/are correct ?
(1) Only (a) (2)  (a), (b} and ()
() Only (d) 4) (@) (b), (¢) and (d)
38, YRET ToUEE FoH HHid 371(2) GOIOIRt ST TH TG HaLia I ?

(1) < S i (2) HERIS U =R

(3) TS 3nfur Wi (4) 3Ty R ST Ao

Article 371(2} of the Indian Constitution is related to which of the following states ?
(1) Jammu and Kashmir {2} Maharashtra and Gujarat

(3) Nagaland and Manipur (4) Andhra Pradesh and Telangana

SHoAT HIATES AT /SPACE FOR ROUGH WORK
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39.

20 A

e Taum fesrra =1

(a) vREE Gfogum auet fed 98 9 e 1946 U IR 9=,

(b) 91 SSHIS TR SR A AEERR T B

(c) T IEEES AlAEH § WA "9 g g,

TSt FIE fFurT SER A 2

(1) (a) 3T (b) 2) () 3 () (3) (@) 3T (c) (4)  (a), (b) 37 (c)
Consider the following statements :

(a) The first meeting of the Constituent Assembly was held on 9% December, 1946.
{b) This meeting was boycotted by Muslim League.

(¢) Dr. Babasaheb Ambedkar was the Chairman of the Constituent Assembly.
Which of the statements given above are correct ?

(1) (2) and (b) (2) (b}and (¢} (3) (a) and () (4} (a), (b) and ()

40. 97 =41 HeAIgEEl AfbaHgR o1 Eetre Ay e o G SXuEr
3T
(1) HIed 9 TR wufar e
(2) wEE Hen
(3) THS dehHiAl Hihd ATHT HEH
(4) Tichi®, =124 @ o g0
The 97*" Amendment Act added a new Directive Principle relating to
(1)  Free and compulsory primary education
(2) Co-operative societies
(3) Free medical aid to the weaker sections
(4) Speedy, fair and open trial
41, wifedt=n AfuFR T T HoEE e

(1) wd wifedt fad=wfa

(2) HEE WY G TREEERdl ST

(3) FafedT e FEE R soel!

(4) hedE e

Right to Information Act is passed for :

(1) Providing all information

(2) Promote transparency in the working of public authority
(3)  Repeal Official Secret Act

(4) None of the above

Tl HIATS A0 /SPACE FOR ROUGH WORK
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42.

21 NO8

k= sifven sifufm, 2005 < Fo9 2 (TH) TR ‘W’ = Huive SR @i
Tyt Hafud wied=n ga@w 2a). € 9 1.

n <=/ 2) TR (3) 9 S (4) T T A

As per Section 2(f) of the Right to Information Act, 2005 the meaning of information
includes information relating to any private body. This statement is .

(1) Wrong (2) lrrelevant (3) Partly correct (4) Can't say

43.

TfEdin iR TEorS -

(@) T

(b wifedi=t SEifwa wa 59

() wicfade arfed=r qareen &

(d) FrER TH HiEvamG! il

vt T

(1) T (a) T AR (2) (a) oW (b) SR MR
(3)  (c) =P (a) 9% IR 4)  (b) 3 (d) =R 3RA
Right to Information means :

(a) Taking samples

{(b) Taking Xerox of information

(c) Investigate the information stored

(d) Issue of documents for one month

Answer options :

(1) Only (a) is right "~ (2) (a) and {b) are right
(3) (¢) and {a) are wrong (4) (b) and (d) are right

44,

et SR S R ST ¥ IEe AW e A -

(1) 30 foEm (2) 60 fgmem

3) 90 feaaw (4) USRS
Second appeal under Right to Information can be made within :
(1) 30 days (2) 60 days

(3) 90 days (4) None of the above

Hol HIMATE 9NN /SPACE FOR ROUGH WORK
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45, 3799 IS W9 9 Wi siftebraene mifedt fusfavardt foAdl Fent o et Ot
(1) 10 (2) 20 (3) 30 @) 40
Excluding exception when any information is requested from any state public information
officer the same shall be provided within . days by him.
(1) 10 (2) 20 (3) 30 @) 40
46, - 9 fuvad. FEFM B FIE TEFUGT =G ¥ GIRER e,
(1) 3.3 3. (2) UH,3TE S, TN,
(3) TuElTE (4) T=LUAEH
The C-DAC’s - software is a scanner for virus for vulnerabilities in php
application.
(1) AWICS (2) SIWS
(3) PAVS (4) AVSS
47, W-FF I YHY 9IS FEET SYIR 9 I QYIS SR S AR s9ae o e e
AR
(1) d<teE (2) e (3) HE-ga @) 394
C-DAC cancer care system for rural area is known as :
(1) Tejhas (2) ONCONET  (3) Megh-Sushrut (4) E-Sushrut
48, TIETER WHGIH HE T M.

(1) HFid Ao ARl bRET Farey AR qealta Savarare!

(2) <Y WA darta MesaraT gealia SSvarErdt

(3) F13 % =0 SreviaE)

@) T 2)3 @) FR

The firewall is having following function :

(1} 1t is to safeguard internal network from vulnerable outside network.
(2) It is to safeguard external network from internal network.

(3) To connect LAN to WAN
(4) Option (2} and (3) only

HOAT HIUTHIS AT /SPACE FOR ROUGH WORK
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49, Tfadt dag-re wEMta oo Ao el (Bandwidth) 31 WL atef @ ?
(1) TR G (2)  HTOEET
(3) IR AN F &7 (4)  FIEEhE S 9 &
The term ‘Bandwidth’ related with Information Technelogy means -
(1) Capacity of computer {(2) Speed of computer
(3) Speed and capacity of computer (4} Speed and capacily of network
50. HW-3F W WG HUA S Sl e U TR DG UM FASHIA IS ¢ e A
_ I
(1) R () TR (3) fa= (4 W
C-DAC has developed an applicationn which can be used for multi-document summarizer
known as .
(1} Saransh (2) Saranshak (3) GIsT (4) Summary
51. SR T (FEsE) =B ¢
(1) TR 3R (THAF)
(2) SRTE SYESH
(3) wfeden sefuga sRemdt vy =
(4) SIET=N THA 99 TUR HOAEEE] SHawen
Data Integrity means :
(1) Integration of data
(2)  Availability of data
{3) Preventing any unauthorised alteration of information
(4) FPreparing unified data view system
52. TURE syl (FPGel Heah) G FOEH AT VPN (SR ) O g@Er ey

4 ?

(1) =N WLRS 2T (2) =ETE WeALT AZAH

() =EE YT ek (4) |IHS VIR A

With reference to computer netwark, the exact meaning of the term VPN is :
(1) Virtual Protected Network (2} Virus Protected Network

(3) Virus Proof Network (4)  Virtual Private Network

FHOAT FHMHE JIEN /SPACE FOR ROUGH WORK
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53, SIS Wesdd AfTaEme duld AR TS, (150) W FEEER 9., (0S]) 9@
P TIE T96 YUY HIVE ? :

(1) 3 R (2) 3 faem sFT=A
@) A faedin e (4) TOetE
According to the International Standards Organization (150), the term O.5.1. means :
(1) Open System Interface (2) Open System Interconnection
(3) Open System Integration {4) None of the above

54, fodtan &9 ofimn 4 790w B B g oot ST worst TR, € ol 9T
EIEIGIGH '
(1) THTUHRT (2) TELHLT (3) TH.SMLUA. (4) THIRTET,
The screen reading software developed by Media Lab Asia is known as which
is used by disabled person.
(1) S.AFA. 2) S.AB.A. (3) SRS. @) SRS.A.

55. OEEL S WA B UTH S0ekdt SR 61, 95y 3oaeiie fer et g2iwie 2ogm AR
T BIAETE A 24 THI SHTA.
(1) % frdfaein @ el A
(@) wEIEE e (4) FEI TN
According to Cyber law means a person who has been granted a license to
issue an electronic signature certificate under Section 24.
(1} Asymmetric Cryptosystem (2} Electronic signature
(3) Certitying authority _ (4) Computer authority

56. WNEHT® JAEE-TTafdren 30 2o AR SR daid 918 Jaiis s S 3 ?

(1) fawaEme™  2) g9 @) Frow (4) FH
Which is the biggest natural harbour handling 30% of India’s export and import trade ?
(1) Vishakapattnam(2) Mumbai (3) Kolkata {4) Cochin

el THTHVATS AT /SPACE FOR ROUGH WORK.
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58.

59.
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YRAT=N TEqE SERAGAY Seis w0 T =

(a) Rarsdl aeq® saaeaAs fafayg vg@ i Jarar sayia o

(b} TR e el STavE FHEEE .

FhoTH! FIvR fauA aEreR o) ?

(1) ¥R () @ W) @ I} @) T

In connection with Indian ransport system, consider the following :

(@) India’s transport system comprises a number of distinct modes and services.
(b) Indian transport system is highly efficient.

Which of the statement given above is correct ?

(1) (a) only (2) (yonly (3) Both (4) None of the above
TSHHE @ FN Fear wufhF ¢ e,

(1) == () ==

@) P = (a) =het=l T

Primary deficit is the fiscal deficits minus o

(1) interest payment (2} interest receipts

(3) net interest payment (4) none of the above

Tiftza PrdeTradl Wit Terra Erereds! e demn Hraifa S 2

(1) U T e WS (IRDP)

(2) TS W ASMR AT (NREP)

(3)  Tror o AeR g s (RLEGP)

@) alodts ad

Which of the following programme was introduced by the government to alleviate poverty
in India ?

(1) The Integrated Rural Development Programme (IRDP)

(2) The National Rural Employment Programme (NREP)

(3) The Rural Landless Employment Guarantee Programme (RLEGP)
(4) All the above

P.T.O.
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60. T T FE WEIH SHParld daid

(a) snaEL (b oo ges

(¢ T (d) Tuwt

qafat S

(1) (a) 9 (b) e (2) (@& (d) ¥

3 @O 3w @) ®) ()3 (d) v
These taxes fall under the jurisdiction of the union government :
(a) Income Tax (b) Custom duties

() Corporation Tax {d) Toll Tax

Answer options :

(1) (a) and () only (2)  (c) and (d) only
(3) (@), (b) and {c) only (4)  (b), {c) and {d) only

61. WIAHTIET Fodl Hebea) S Siftn foefia el Sk e forear gfva 4 2
(1) ey 2) R
(3) SIS (4) ot wd

Which of the following conceplt refers to the expansion of economic and financial activities
across the national boundaries ?

(1) Privatisation (2) Liberalisation
(3) Globalisation (4) Al of the above

62, WA WEHRY HWUE Siore e =1
(2) Yoo A ST
(b) Iifiem Ity swafaw we
(c) e AT I F GUTT STHE
(d) HEFET=N Tege F @S A g JUEiie
qqidt IAY
(1) () v (2) (b) v @) () ww (4) wlotE wd

Budget of Government of India gives information abott :

(a) Budget estimates of the following year

(b)  Actual figures of the preceding year

{(c} Budget and revised figures for the current year

(d) Complete picture of estimated receipts and expenditure

Answer options :

(1) (@) only (2) (b)) only (3) (<) only (4) all of above

THoAT FHTAEE S /SPACE FOR ROUGH WORK
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63, TMTAHIHLNR YRAHE & 70 Team TEyrea SEHaE hIvicdl STHIe SRt ST S

27 NOS8

R ?

(1) &M IERE TaEE ot

2) TOURA G FEAFAI FH TR M@
(3) TR AV

(4) WG TG TN ST

Which of the following constitute the challenge for small and medium enterprises in India,
due to globalisation ?

(1) Limited exposer to foreign market
(2) Achieving cost efficiency

(3) Lack of competition

{(4) Easy access to foreign technology

64,

SR AR a2 (WTQ) S HIa WSSt I TeaT HHE Sow - ?

(1) TR AT IR S, (2) =T G FHHT HL.

(3) Eq TEEE wH HOL (4) frufa gz aefao.

The WTO agreement on agriculture does not aim at which of the following ?
(1) Improving market access (2) Reducing domestic subsidies
{3) Reducing domestic support (4) Increasing export subsidies

65.

GBI DIV T Ao G Sieiet FHaer 3R ?

(1) wem defore ggdt

() R e Freem

(3) FHal TrA iy Bivew e 3R

(9 ot T

Which of the following factor is responsible for educated unemployment in India ?
(1) Defective educational system

(2) Inadequate development planning

(3) Inadequate attention to the development of human resource and skills
(4) All the above

HeeAT TG WA /SPACE FOR ROUGH WORK
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66. IT-1 SATIRYE @ N YTl STEiaar.

(1) Tt (2) aFna

(3) A (4) SIBUHT A

Income terms of trade increased caplacity of

(1} export {2y import

(3) investment (4) none of the above
67. wd @ IATRE WY A

(1) e (2) v

(3) I (@) ™ T

_ is not an unproduchve expenditure.

(1} Defence (2)  Administration
(3) Energy {4} Interest pavment
68, SMTHEROMT Yigds, FH A aw=n Jaw T,
W gw () FrERE (3) afamda 4) weEd

Under globalization flow of capital, labour and goods are

(1) Free {2} Controlled (3} Restricted (4) Co-operative

69. T WHITH fas¥ E@HEE UHHA Heeardl 92F RO :
(1) fogo (2) o (3) A WSS (4) T e
The singlemost important item of development expenditure of the state is :

(1) Education (2) Agriculture (3) Civil works (4)  Rural projects

HeT RIS J /SPACE FOR ROUGH WORK
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70. TEOGHH BIOH TrAETHIEN Fone WHE AN 3¢ ?
(a) ot &
(b) FE TERFTZA YOS B
() W= F
(d) Ihetw od
wEid 39
1 & (2) () () (D 4) @

Which of the following are the major heads of debt of public finance ?
(a) Internal debt

(b} Loans and advances from the central government

{c) Provident fund

(d) All of above

Answer options :

O @ (2} (b) @) (d) @ (©

71, YRR U R fagEem W = YE A

(1) ufis, 2004 2y ww®, 2005 (3) e 2006 (4) ¥, 2007
The Rajiv Gandhi Gramin Vidyutikarn Yojana (RGGVY) was launched in

(1) April, 2004  (2) April, 2005 (3) April, 2006 (4)  April, 2007

72, VS HTHAME FHME] [EEHT O A STTAYAE B
(1) Fre dez 2) U@ (3) =gEHl (4) AR
In budget every programume has to be evaluate.
(1) legislative {2) cash (3) multiple (4) zero based

ool HIATEAE AT /SPACE FOR ROUGH WORK
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73.

30 A
o SR W A 0w v AT St ?
(2) Todet swizsmmte o fely Fga o
(b) TAETHIEN BT WHER ey e,
() Fod WS T SIS HER T T,

(d) ToRel Jren=rEi Je FaeueaivsTel qeE g9 AT WE O,

Tyt 3T

(1) () %\ 2) ()R @) (o) = (@) =0 ud
The main features of TRIMS agreement of WTO is :

(a)  All restrictions on foreign capital should be scrapped

(b) No restrichon will be impo#ed on any area of investment

(¢} Imports of raw materials and components will be allowed freely

(d) The foreign investor shall be given the same rights in the matter of investment as a
national investor.

Answer options :

74.

(1) (a) only (2) (b)only (3) (c) only (4) AlRofabove
W 2000 W@ _ WA GERIIER Had N Wegor], Hhy 9 Usd WE Rl
faatom euite 990 ugA ane sEa. '
(1) 69 (2) 7=m (3) 8= (4) 9=

There has been significant change in distribution of central tax collections between the
central and state governments according to ___ Constitutional Amendment in
2000.

(1) e* (2) 7t (3) 8t (4) ot

oA TS AT /SPACE FOR ROUGH WORK
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75. & 2011-12 91 FERGT AEE SRR SENHER 1= HeHEmEgyid @6 ) 2@
T AL

(a) W R

(b) sifem

(c) WA W

(@) fwr

T S

1) (D ®)y@ @ @ by ¢ @ 0@ @ @)b)d (-

Arrange these states in descending order with reference to the incidence of poverty
estimated by the Planning Commission for 2011-12.

(a) Uttar Pradesh
(b) Odisha

(¢) Madhya Pradesh
(d) Bihar

Answer options :

L @@bE @ @bad & @O @ @ @ b)de

76. WA |1 &1 U=t SEETT ST

1) 193, 1993 (2) 1o, 1994 3) 19, 199 @ 13, 199

Service tax was introduced in India on

(1) T1*July, 1993  (2) 1%t July, 1994 (3) 1%7Tuly, 1995  (4) 1%t July, 1996

77. SN SR AR SR TR Hv dER Hot A ?

(1) -« gomftem (2) o Ted

(3) e | (4) . SO

The final draft of the 5t five year plan was prepared by

(1) C. Subramaniam (2) Ashok Mehata
(3) Mohan Dhariya (4) D.P. Dhar

FHoAT FHETEE S /SPACE FOR ROUGH WORK
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78, IEHIH, WISHIH & Adehiahtl & i < G HRA.
(1) Heshu (2) WsaCuAE
(3) i anfde dRom 4) Tt T
Liberalization, Privatization and Globalization are the three pillars of
(1} Co-operation {2} Capitalism
{3) New Economic Policy (4} None of above
79. F UHAM T W Hadia s
(1) T TS
2y T ERw
(3) h[hgd GEAS FX Hshfda B
(4) ariEl e
Tax shifting refers to
{1} avoiding of tax
(2) imposing tax
{3) shifting tax burden from one person to another
(4) none of these
80. UIETE Yfaumie [aave & WEie S e 1 ?
(1) SRR = (2) Wyl v W
(3) e = (@) e IR
Investment in infrastructure leads to which of the following ?
(1) Fall in output {2) Reduce in competitiveness
{3) Reduce in poverty {4) Increase in poverty
81. fas SR HET=a1 (WTQ) TG ST It &8l 9= e afie: Tdcbier. Tea

EUA WOOUE! FIUE TP JUGR YT 3R ?

(1) ofe = Qe (2) =T UL

() WA a9 (4) IS Wi

Which of the following is provided as the annual level support in monetary terms extended
to agriculture sector by the member countries as per the provision of WTO ?

(1}  Amber Box Support (2) Blue Box Support

(3} Green Box Support (4) Red Box Support

THoedT HHEE I /SPACE FOR ROUGH WORK
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82. WS fayriet faur +1 ;
(2) Tl sl 2 sffaRieR, 2014 W FESH A™RTE ST Hao! 3.
(b) st IRFER TG ¥ AT SUTeeT SR,
(c) Torhma whhim Tor fermTee oM TR M fawRer e,
I faum SRIew o7l ?
(1) (a) S (b) FA SReR TR, (2) (b} 3T (c) T IR SRA,
(3} (a) 3 (¢) I TS HE (4) T Td fFuH AR A
Consider the following statements :

(@) NITI Ayog has replaced the Planning Commission from 2°¢ Qctober, 2014.
(b) Mr. Arvind Panagariya is its Vice - Chairman.

(c) [t has adopted bottom-up approach in development process.
Which staternent is correct ?

(1} (a) and (b} only are correct (2) (b} and (c) only are correct
(3) (a) and {c) only are correct {4) All of the above are correct

83. frre frifafadid ofe soiz Wieide oo (FRBM) =it & 3dies 3 -
(a) TEYS gAY IeAU S
(b) TSR GE FU FA
() T WEIF FAY el HS
(d) Hem @i HYd w0

i s .
(1) (2) 3717 (b) &= (2} (c) sfon (d) wed
(3}  (a), (b) MM (¢} BT ) (o), (b) 3T (d)

The Fiscal Responsibility and Budget Management Bill (FRBM) was aimed at :
{a) Eliminating revenue deficit

(b) Reducing fiscal deficit

(c) Containing growth of public debt

{d} Reducing defence expenditure

Answer options :

(1) () and (5) only (2) () and (d) only

(3) (), () and (c) only (4) (), (b) and (d) only

el RTATES! ST /SPACE FOR ROUGH WORK
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84, WHDU! RVl 9@ Ko dfvres Ty ?
(1) = & asg=a fosmiad sae Sl
(2) T TR faF=N A2 TS FA S
(3) =T IR faw R onfor S A= v oree Sl
(4) s wd
Which of the following is the features of VAT ?
(1) VAT is a tax on sale of goods.
2) Itis imposed at the point of sale only.

(
(3) It is imposed on the difference between sale value and purchase value of goods.
(4)  All the above

85. Frim sTTRES iR S FR ST e i W o ?
(1) &4 forgror o
2) H2 f T wwRaHte fasdia dey g,
(3) THRA SR A T FEEaHT Feor 301,
(4) RO TF HEE T TG,
What is the main role of NITI Ayog which replaces Planning Commission ?
(1) To impart value education.
2) To improve center-state financial relations.

(
(3) To provide government with relevant strategic and technical advice.
-(4) To transform India into a great nation.

86. TR ' FE 7 oATE WS wE o 3T,
(1) TJOEF T 2) HIEEF @H
3) sae @d (4) =SS AR
The expenditure of the Government on ‘law and order’ is classified as
(1) Productive expenditure (2) Unproductive expenditure
(3) Capital expenditure (4) None of the above

87. HIT HEYD WHSTH! HIH T Al ?

(1) <o, VIS, JHHE (2) = & 9 @

(3) Wl W TS () oS w4

Non - tax revenues come from : i

(1) Currency, coinage and mint (2) Interest receipts and dividends
(3) Other non-tax revenues (4) All of above

ol RIHEIST JAT /SPACE FOR ROUGH WORK
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88, HYHY Ky TEEER i .

(1) R (2 == (3) Wi (4)  WHRIR

Indirect taxes have effect on the society.

(1) Progressive (2) Equitable (3) Regressive (4) Proportional
9. WAIEAM ke SgWd a7 BRI g 337 vl fao ?

(1) IR qF (2) WIiAF MR G (WTO)

(3) o o Freft (IMF) (4) weEE e (SfgEm)

Who has been given the mandate to negotiate multilateral rules in services ?

(1) World Bank (2) WTO

(3) IMF (4) Central Banks
90. T99 FHITR FE ¥ LI I Fiadid TITHRIN 0 37 2

(a) FTA T T TEHR T Fogt GO Aevit Il

(b) HTAT TR T AT ST SUTFAT MM ad 3%,

(c) S RIAE FHU A TWIEHR 9 HaaidR drie fada gsumnt HrEid &,

(d) alots wd

it 3eY

(1) (a) R (2) ) v (3) (b) ® (4) (o) ®H

The function of finance commission is for make recomnmendations to the President in
respect of :

(a) The distribution of net proceeds of taxes to be shared between the union and the
state.

(b) The principles which should govern the payment by the union gtant—m—ald to the
revenue of the state.

(c) Any other matter Concerning financial relations between the union and the state.
(d) Allof above
Answer options :

(1) (a) only (2) (d)only (3) (b) only (4) (<) only

HoeAT HIWHE AT /SPACE FOR ROUGH WORK
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91, THHTHIH FEgE Aggord B Ul g,
(a) T TWHRA W9 FL
(b) e WG HEYS NS Tod GIFHRET dlel
(c) e WEAE FRE T TR A
(d) T HETE A TEAT IS e S
it I ;
(1) (a) FH (2) (b)FH (3) (c) v (4) =il wd
Important sources of state government revenue are :
(a) State’s own laxes
(b) State’s share in the tax proceeds of the central government
(¢) Grants-in-aid and other contribution from the centre

(d) State’s own non - tax revenue

Answer options :
(1) (a) only (2) (b)only (3) (c)only (4) Allof above

92, Mfa FATYR FEAAT (WTO) Fe-QHRY Tiee=a ia'ld Wi giren Frikd s ¢
(a) <R it fama Tfag
(b) FEgfaTaE AR 9fg
() Tarfawas =R e
FHSAHT I FITE T TR0 TRySn Haid Frita omie ?
(1} %A (a) (2) WH (a) W (b)
(3) FH (b) I (c) 4)  (a), (b) 3N ()
Following are the councils working under General Council of WTO :
(a) Council for Trade and Development
{b) Cournxil for Trade in Goods
(c) Council for Trade in Services
Which of the above council are actually working under the General Council ?
(1) Only (a) (2)  Only (a) and (b)
(3) Only (b) and (c) (4) (a), (b) and ()

93, TR 01 ATIRTETSESAT TR U (GATT) TSt ST SR W= (WTO)
Uit sAfeacana swt.

(1) 1sHad, 1957 (2) 1 SFER, 1991
(3) 1 SHEH, 1995 (4) 1HEr, 1996
WTO replaced GATT and came in existence on .
(1) 1% January, 1957 (2y 1% January, 1991
(3) 1% January, 1995 (4y 1% January, 1996
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94. HRATAN ARG 1951 FITH TS T WIAIh! HIIAl HRON! A ?

(a) SHEfTEROI=AT A9 TTHIH BUFl A6 e SRV Yisae! a&] o Heql HIarE! SHEK,

(b) SERIFONes Trafdien S aredi F=h WerE! JHw.

(c) SIS F STR TEHARE! FHH GO A,

(d) e TR fEmdin g Sy 97,

i S |

1) (@) w= @ MFTOFT (@) @ITFH (1) Tt

Structural changes in India’s imports since 1951 shows :

(a) Rapid growth of industrialisation which needs necessary imports of capital goods

and raw materials.

(b) Growing imports of raw material on the basis of liberalisation of imports and exports.

() Declining imports of food grains and other consumer goods.

(d) Sharp rise in international prices of oil.

Answer options :

(1) (a) only (2) (b)and (c) only (3) (a)and (d) only (4) All of above
95. T TEH T Fig (S 91 TGAF P AE FOO T DG TR 7

(@) IPW (FAHE foae T <)
(b) TR TG IS &3

(©) T I

(d) e HET HRIhIH

Tt I

(1) (@) >0for (b) Fom 2 () s () TR
B) (@ (b), () 3 (d) @) (o) M (d) %=

The new Direct Tax Code {DTC) removed most of the categories of exempted income
like : .

{a} ULIPS - United Linked Insurance Plan

{p) Equity Linked Mutual Funds

(¢) Term Deposits

(d) National Saving Certificates

Answer options :

(1) (2) and (B only (2) (b) and () only

G) (@, ®), ) and (d) (@ (0 and (d) only
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9¢, 'Tafau yfam =i FRvis’ o Eeiats S0 gigen 7

(1) mifash 9% (2) HAE oM 3Ea®, 2010

(3) P wzw (4) fid 9% o fea

Which of the following has introduced “Multidimension Poverty Index’ ?

(1)  World Bank (2) Human Development Report, 2010
(3)  Planning Commission (4) Reserve Bank of India

97, VIRAMIS TRT {901 SiEge ren THR e W 3.

(a) TASARIA AT FH.

(L) TER FEIETA Hiad davad T,

(€) g wfufaa m qes

SHOHFT P0G oA aRIET AlE 7

(1) (a) 30fN (b) FAd (2)  (b) W () B (3)  (a) I (c) B (4) (a), (b) H ()
Civil aviation in lndia suffers from the following weakness :

{a) High cost of operation

(b) High dependence on foreign suppliers

() Inadequate lruined manpower.

Which of the statements given above is correct ?

(1) {a)and (k) onlv (2) (byand (Jonly (3) (a)and (c)only (4) ({(a), (b) and (c)

98, WOOIH! FM & TRTETRI A THY FRUNG HEH ?
{a) TR WIREATE
(b) Fgen fEHad 7 MR G Woe ARE TR
(c) TEECH fosiv & ey TR AR SO T
(d) TasmE=Hde ge
T I
1) e FE @2 (@ @) (b) FH (@) () F=
Which are the reasons for the increase in expenditure of the state ?
(a) Expansion in ¢ivil administration
(b) Higher salaries and wages due to rise in prices and cost of Living

{c) Increase in the provision of government services in the form of education and public
health

(d) Increased development expenditure
Answer options :
(1) All of above (2) (a) only (3) (b) only (4) (c)only
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99, WOBUH! HIV GZhm=] Jar=ar A fasar=n feu-wem sfewins gaew 8 ?

(1) g (2) anids faamar s &

3) e e (4) TRl Fa

Which of the following constitute long-term objective of economic planning in India ?
{1)  Self - reliance {2) Reduction in income-inequalities

{3) Elimination of poverty {4) All the above

100. WRAMEIE IHHE GEeUH! VR HUW, T AeErd T ?

(1) e diedt den (2) AT A
(3) IS HETOTER e (4) HEMOEES Gifia SE
Which of the following is not the important cause of unemployment in India ?
(1) Increase in labour force {2) Inappropriate technology
(3) Lack of effective demand {4) Protective labour law
-0Qo0-
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AN — (7% 1 967 I2....)

®) yFqfanaed fafga Foom fafre WA o= M (I TH) FO.  TWAGETHHINE ITCI ool T
3 FIRE Fd FM Hod™d d HIU FUAAT RN FS IR, 3 70 IS F WIER IAGARA
IEAR Sl e ' wligined g TdRE yfaay sodeeEad sfufEn-82 ' I WghgHr wRaER
FEE A3 o SNl oaFdl FHIS TH I HUETErer v/ fFe T U TR @O derea gy
T BEe.

@) TR TEIRER SE fifgn Foo 38 YICIHE SHEENIE € TR A ada] THewaeet
U T WA R, WA GHTEh AT WUEaigE! SUGaR STOean SHaiEEr um-1
WAGETES T FaTRaT U FIUT A O

. . 201.

hb RURER
=t =1 T FIUGTAIS! IO Ferl: T s ?
1) @R AT S 2 {vaEs famarm
@) T TR I @) TR ArEs
W AN 4 I (3) TN e F' o . WS W YN SW ' (3)" e, W
GRORETOl T F. 201 96ife so-wEiw @) ¥ 9ge e swEifed ww i
ATTF R,

HORON NCO

HM TEAR T TGRS TOF AT gAF SAGhHIS 8 TR W qiasen
IRAFFTNS N W TEFAHEHEE Haidaq ages QU0 SEifed 67 Sl gk an
ad hiedl yM§a dien arE, ifwe o iy o9 s 2.

HesHT WISl W / SPACE FOR ROUGH WORK




